nearer to

P THhe
Station
point jg
22mm in
front of
PP, 38 mm
to the left

of the
axis and

55 mm
above GP.
Draw the

perspective
view.
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Problem : 1515 A cone, base circle diametre 50 mm
and heigh

t 60 mm ijs resting on its base with its
axis 40 mm behind

the PP. The station point is 30

mm in front of the PP,
the central plane 35
mm to the left of the
axis and the horizon
line, 40 mm above GL.

Draw the perspective
view.




Problem : 15.15 A cone, base circle diametre 50 mm
and height 60 mm is resting on its base with its

axis 40 mm behind the PP. The station point is 30
mm in front of the 142

the central plane 35
mm to the left of the
axis and the horizon
line, 40 mm above GL.

Draw the perspective
view. =




